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[Time: 2 Hrs ] [ Marks: 60 ]

Please check whether you have got the right question paper.

N.B: 1. Attempt all questions.
2. Figures to the right indicate full marks.

Answer the following in one or two sentences: (any six) (12)
Define inference, Give an example.

Define term. Give an example.

Define proposition.

What is contrary and contradictory term?

What is fundamentum divisions?

State the law of Excluded middle.

Define free consent as per Low of Contract.

viii) Define Extensive definition, Give example.

IX)
X)

i)
i)
ii)

iv)

i)
i)
i)
b)
i)

d)

Define eduction
What is divisions by dichotomy?

Write short notes on any two: (12)
Connotation and Denotation:

Universe of discourse

Industry (Industrial Law)

Rules of Division.

Attempt any two questions:- (12)
Reduce the following sentences to logical form and identify the kind of proposition as per
traditional logic. Name the terms that are distributed.

Graduates alone are eligible.

Few Indians wrestlers are long-lived.

Only ignorant persons hold such opinions.

Identify the following compound proposition, symbolize it, and construct a truth table for
it.

“You will catch plane if and only if you reach in time”.

Using quantifiers and the given notation, symbolize the following general propositions:-
1) No athletes are bookworms. (Ax, Bx)

2) Not every applicant was hired (Ax, Hx)

3) All that glitters is not gold (Gx, Ax)

Identify the following modern definitions giving reasons for your answers.

1) Alcohal is a kind of medicine

2) Man is a civilized rational animal

3) The child is father of the man.

Identify the fallacies in the following logical divisions, giving reasons to your answers.
1) Man into Indians, Chinese and educated.

2) Triangles into Equilateral and Isosceles.

3) Metals into white, heavy, ductile and precious.
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Answer the following questions in detail. Any one question from ‘a’, ‘b’, ‘¢’ and ‘d’ is (24)
compulsory.

Explain in what sense logic is a science and an Art? Bring out the nature scope and its
significance in law courts.

Explain four fold classification of propositions.

Define “Immediate inference” and “opposition of propositions”. Discuss in detail,
Inference by opposition with the help of square of opposition.

Do as directed:-

1) State the contrary and contradictory of, ‘All successful executive are intelligent people.’
2) State the Sub-Contrary and contradictory. of ‘No animals with horns are carnivores’.

3) State the Sub-contrary and subaltern of, ‘some uranium isotopes are highly unstable
substances’.

4) State the converse and obverse of ‘Some men are wise.’

5) State the converse and obverse of, All men are fallible.

6) State the converse and obverse of ‘Some philosophers are consistent’.
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TS TUTa
[Qe5: 3 AT | [ TTUT: §o ]

Please check whether you have got the right question paper.

geEn ¢, wd Uy AfHaTE e,
R. ARSI 3k YUT 70T Foitarara.

. ¢ Trediel T2 3T U fehat S areRid fofet, (shioraet @) (2?)
i) AT SITEAT 1. ST 2T,
ii) UE FEUIS SHTA? ISTEL0T T,
iii) feren= reuret 17 IeTELoT .
iv) fordra g smifor sement ue e e
V) TorarerTe et dea et S
vi) Tt e frm g,
vii) Law of Contract THUHH et < ST .
viii) 3STETTcHeR AT AT i, IaTELT 2T,
ix) TeeReOT STHTT SAREAT .
x) fevrer favrse o s

.2 ifera four fotet (amioTeret 2) (2?)
i) TorfreRT STr foreame s
i) foraor fag v w2
iii) ‘ST = AT AT Industrial Law

iv) Tareame
T.3 Tl I I [TeT (ShIuTaEt 2i) (2?)

) YSIe forHi=l qehloreT=Td EUieR s, TATdIeT SATH & STSATH Ue HTe3a.
i) e USETER T Te.

i) HiaT TRATT Hool SENT ST,

iii) Wb SATTRTT SATeRT=I=r 3 HA 7 Irhl.

)
i) Wreliel Sk faam e,
fergifera 0 o Geaar areeft s,

S AT b Trei=iTed 9% fommH Tehg ITehIa.
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i) Trelte faem femgiferd .
%) U & WG THAshidall ohaT ATal. (AX, BX)
R) e STSIGRICT [k et ATl (AX, Hx)
3) dehial S THehd d M T9d. (GX, AX)
%) WTefiel ST 1Y 3TV, S T,
2) 7Y & Ueh T[T 3N9e 1R,
R) T &1 A feramefiet Wt 3.
3) STcTeh & AT fUdT 371,
T) Wreilet [T S e@T ol ol
%) WA TR, <, SATior gefiferd sTeft formroft
R) Frhtoreht wavst 9 wHepIA St famft
3) YTl Tie, STS, Telereh AT Hee 72t forvmroft

. % WTeter Tt Aot It fofer: 31 ‘o &’ Hvrare U 8 AT o1, (%)

3) “qeheITE forT ol ST o oT ot TheTTEITE ! ToT , SATHT | SHIad i Hecd T8
<h{.

o) forem =gl SaretueE fosduor s,

) FHATEd-STAT AT . fore-foatiy Feurst s fae oty siRETgi STAHT
ITETUTE TISTRLT 3.

T) HETER §ed AU,
9) feriar ferrer 310t erTaeh forliy o1, e RTEal] RIS JEHM Al ST,
Q) Srferadia STvT STeTas: e &, “TTeie Yol HiETeRT J69ar.
3) reifaadia forer STor IuTrera fokier =, “shiat JLFram sTrarErdied STRter vare sredrd’.
) TiEI SATOT Sicieii . Shia! @iieh ofHT STETa’.
Y) gfErd= STTfoT Ui T, ad HTe YT ST’
&) a7 Sferare 2. et qrRifeh YeTd ST,

% % % 3k 3k k k k k k
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